44 / 54 )

=
ke

i
1

§2

¥

(

i)

=
JL

i

W
|

TE X1 [X
ies

]

*
VAR

X

=K
;

1 ¢

=10
]

M

KRR

TE

8

\ZHTD
=

K

Y
’

L
[

&

ERMVRIR L7

%] REFF D

Z

(

SN
AT NS | o
Ty
PN el R &
L. Lo = HOY ©
S w@%@ﬂ
¥lolxSPefoln
A N[Nl
™ lo|m ol
— NI IR B
™ —
< o

494

50cmLl k)

UE

iSiD)]
Ut

!
i

+
JT
oz
2

o

g

7K
GZK

1

<
U
<
U

7 B%
3Bk

i
Lk
i
f&l
&

bE]
3H
1H

1

BRI RS
ic3

12
50cm3k

Ut 24
UE

i3
i3
1=

12

i

RES

by
4

R

-
3
4.

7K

IS
By
1€

o
F

RET B

E%
n
£33

»
3
4
-
3
7

N

%

IE-3
7

o
N

s
.
A

A

BR

=2
BR
&P

ll_%l“
X
0 K

I
Bk #15
!
15, 000

7

1000m

800

200

100

1

TN

2 (T2 N 54445 EFTHERIL =R

#Rith 2 X (S=1:2,500) %

"

DR (L, E L i ERR & O &
R (6ETARZFE13285) LTHERLI=2DTHS, BITEREET 5.

-

2<HEEL,

tEA%E CHE

BB

-

’,

=
o
Ly
8
%
X

G

'

ERKBERE

=
=1

RIFBLEVNEHTO

N
A

%h

LEMNESE=HFDR

ZEATABESIEICOVNTIE, 2HERT

el

%

4
N
Xy




